
790 ADVENTURE, orange - IKD 2021 <2021><AR><F9642U1>
EXHAUST SYSTEM

55397

Pos Part Number Description Additional Text Quantity

1 63505183000 Silencer 1.00

2 63505111000C1 Heat protection black cmpl. 1.00

3 78105181010 Torx screw M5x10 black 1.00

4 54603048600 RANGE CHANGE METAL NUT M5 INOX 1.00

5 27005011011 DAMPING ELEMENT SILICON 2.00

6 69005105005 Manifold gasket 2.00

7 0025060256 HH collar screw M6x25 TX30 2.00

8 63605058000 Exhaust clamp tube 50 mm 2.00

9 0025080306S HH COLLAR SCREW M8X30 TX40 3.00

10 64105050000 Pre-muffler 1.00

11 63541090000 O2 Sensor LSF 4 1.00

12 63541190000 O2 Sensor LSF 4 1.00

13 64105007100 Header 1.00

14 51010086100 self-locking nut M8 Cu 4.00

15 64105005000 Exhaust gasket 2.00

17 58405050065 collar bushing 8.5x12x23.5x10 6.00

18 54305068100 damp. component silicone grey 3.00

19 0019080506 COUN.-SUNK SCREW M8X50 ISA10.9 1.00



20 60405069000 Shape disc Alu 1.00

21 61305069000 Bushing 8.5X11X29 2.00

22 63505015000 stud screw 835 M8x25 - 10.9 4.00


